
Selected solutions for the suggested exercises,Sections 8.1-2 (and a bit of 5.2)(1) Find the area between the following curves:(v) y = x y = sin(x) x = ��4 x = �2 :The curves looks like (green is y = sin(x), red is y = x):
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The intersection point is 0. Before 0, sin(x) is above x, after it is below. The area is then:Z 0��4 (sin(x)� x)dx + Z �20 (x� sin(x))dx = [� cos(x)� x22 ]0��4 + [x22 + cos(x)]�20= (� cos(0)� 02)� (� cos(��4 )� (��4 )22 ) + ((�2 )22 + cos(�2 ))� (02 + cos(0))= (�1� 0)� (�p22 � �232) + (�28 + 0)� (0 + 1)= p22 + 5�232 � 2


